Review the screen captures below.  What are the answers to the following questions:


a. How many tables and chairs should be produced?

b. What is the profit generated by this solution?

c. Will all hours of carpentry be used? Explain.

d. How much additional profit will be made for each additional hour of carpentry?

e. If the profit on a table was changed to be $2300, how many tables and chairs should be produced?

f. Will all hours of painting be used? Explain.

g. How much additional profit will be made for each additional hour of painting?

h. For what range will the answer be true?

(Note:  To see the details on these two screen shots, increase the percent of zoom on these pages in Word. The details can more easily be seen this way.)
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PROBLEMD.LTX
tables
chairs
Max 2280x1 + 1515%2
subject to
1 8x1 +5x2 (- 32850 thours of carpentry
€2 3.1x1 + 2.6x2 <= 15000 ours of painting
€3 1x1 + 2x2 <= 7000 unber
4 1x2 <= 2800

end
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OBJECTIVE FUNCTION UALUE =
1) 9551659
UARIABLE VALUE REDUCED COST _
2) 6.600060 276.818176
3) 876.363647 0.000000
4) 6.600060 65.45454
5) 695.454529 0.000000

RANGES IN WHICH THE BASIS IS UNCHANGED:

UARIABLE

X1
X2
c1
c2
s
oy

ROV

wren

CURRENT
COEF
2280.000000
1515000000
09.000000
9.000000
9.000000
9.000000

CURRENT
RHS
32850000000
15000000000
7000000000
2800.000000

0BJ COEFFICIENT RANGES

ALLOVABLE ALLOABLE
INCREASE DECREASE
144.000000 1522499878
3044999756 89.999992
276.818176 INFINITY
9.000000 INFINITY
65454544 INFINITY
9.000000 INFINITY
RIGHTHAND SIDE RANGES
ALLOVABLE ALLOABLE
INCREASE DECREASE
2677.777832 7649999512
INFINITY 876.363647
956.249939 2893749756
INFINITY 695454529





